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pi-{EHelicity frame5 & cos(B

LambdaCosThetaHX
25000 Entries  1.737476e+07
Mean -0.1423
Std Dev 0.5422
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* pl rest.Boost(-lambda.BoostVector());
* z_HE = (lambda.Vect()).Unit();
* kCosthetaHE = p1_rest.Vect().Unit().Dot(z_HE);

 // Helicity frame

* TVector3 z_HE = (pair.Vect()).Unit();

* TVector3y HE = (Beam1l_rest.Vect().Cross(Beam?2_rest.Vect())).Unit();
* TVector3 x_HE = (y_HE.Cross(z_HE)).Unit();



proton{EHelicity frame5 &Y cos(B

= LambdaCosThetaHX
25000— Enties  1.737476e+07
» Mean 0.1423
= Std Dev 0.5422
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